Ci| =3t Iy}
|_I-'EI o d o7
LR AT A={1 3, 4 B={o|se6o ot}el | 4 o Wl delelage] g \
tiote] the £ 22 AL BT 12W? (A 271) 1 n(U) =57, n(4) = A B
19, n(B) = 33, n(A°U
D 3ed @ 1¢B B¢) = 54 o, 4F
g HEo] Y= et
©) B @ {1} € A
oe e o ga0] M4g Farel | )
® {1,2 3 6} CB 2t
2. o F AL, 2, 4) o AREH}NA AL BE
Totefzt 5. 100 o]ste] 24 FollA 3 o] His=o] ALt 4 o] w4
A 4] A5 Fstefet
O
© {1, 2}

— Az
1008 T ZHe. F20] @)y
1,3,5,7,9,11,13,--+,99

— Butd

QHch 23 28Tk 22 B
5
1

— C7d
(20089014 298 AUFE)
59, o=, vhebE, ded,

3. n({L 2, 3)—n({L, 2}) o g& Fotolet.




Fakals
HH

Al A
A={zl0<z <1,z

= {z]z= T A B
C = {z]z 3 oI5t A4} & o,

n(A) +n(B) +n(C) & Fefet.

L <
T

b

2~
ET
A},

T A% A, B o tioto o5 5 4
DO Ang=A

@ Bugo =9

® (AnB)CB

@ (AuB)c A

® AcBolHAUB=A

ohx Hl tholo] 8-S KAl Ac
Y7y daAgdH o 111&}141013}_

11.

12.

13.

S oA o et F HikE ol e 7+ shgo] 20
W, A0 o] 7k Aol 13o] T F E B
W& 7 shgo] 9ol ik, oln) £ X 5 o Fozw
of@e 7 8Py 42 Fatolat

e F &7 e ALY

® AuB=BUA
@ Aug=A

® (AnB)C A

@ BCcAolHAUB=A

® BCACO[HANB=A

FA¥A={l,a,a+2},B = {a—1,52xa} °l
tisto] A— B = {3} & |, a 9 = 5ozt

T A A = {z|z= 120 OISt 59 MG}, B =
{z]|z= 120 o]5ke] 89 v} of] skl n(A U B) 9
ghe Fstofet




14. b= FoIA &2 A& B5F 11=d?

® A=BO|HACB, BCA
@ n(A)=n(B)°|H A=B
® Ac B ¥ n(A) <n(B)
@ A= B o] n(A) =n(B)

® n({1, 2, 3, 4}) —n({1, 2, 3}) =4

15. & A+ A B o dsoq A

{z|z=50l5t9 &} ANB = {3},AUB =

{1,3,5,6,9} & ©f, s B & F5tofet




